00 1 SH6E1 0848
r=h — L No.11
+ v WEIESRIZEENRE BF Bl—

10RICAD, Do EESBLUBBENTELERDICEBNET,
BREDECAHABERLUTCNDEFEBIBERZ TS CNDELDTINDT,
AREEXRS USBRENNZLET,

¢ RKBENKNK DIOHBBIEZE] CI0FT, REED
BIXICIE, E@wF, VNWISNSEEBHBHDAEDTSNET,
KRIEAVD UIWNESNE I DN AABRHI T, TRIC, 2L, BRA
DERWRZRETETESEBRO>TNET,

(10878 (B ~118 (& OFE]

B/8 |#F G
B#EB8) |k 1 2 3 4 5 6 I (SB) ws
Sl =] BiLEE) | BH5E - HF £EEaFE =]
10/7 £ £(f(135G) £ 1525 | Lo
w | 2 EEE (2680 — — - RRE(246G) a | (1530 | &7
B # | B | gigusre | 272 | REEAE 2
= =
5| g | BILEE =]
fac] EEETFEE pacl
10/8 = \ o — k53 AN £ | 1525 | BIHE
(w) o IU%D E:E(3457G) H&% EE/E%TE?E (ﬁ:ﬁﬁ . 1 33ON) % (15:30) %@EZ/\
5| 15 | 1% 060 XEMFryD 15
= =
E| g | BiLg# - =]
(5] VA2 Juls =
10/9 [ 1 [ ziiaea | MONE | srise | I | 1525
st | ¢ HFE(268G6) = Y e | o | (1530
K | 2 ggg e ey FEE(13506) (iR1% Time) | EUEHR) i‘é
= =
10/10 =k = e
& 55 5 & | 1625
R || o 8 tFRFE &> | (1530 | wixe
i5 {5 B AR
= =
E| g | BiEE EfE - 8F =]
(Sc) (ac) N
1011 | £ [ E%(126) | BREB4G) wrmmsm & | 1525 | FEE
& o | BEEE ) \ ! ¢ : e
& |z % ﬁ;;gs RE(2G) | RIE(1G) - % (1530 'Sl
= =

X Il - TE) BB - EEFHR (DEEMR S ZEFHR (AE~CH. FH~J#D

BEH=BUH SO

W10888 (W) o MBEH=ZFIREZ ] NRZTS\E, BEHE
(BN TEE<BEDET, BEL, BZTE\HEII. HERET.,
FREE UL IREDKBRE COZEZNMMUEICIZDTI DT, I
HH. B2 TZDLDIC, HEE TSN,

@ TSRICERICH OTDE! & @MFTvIZETNEIDT,
\ 10888 (W) FTIC. UFH>TETIES),




(108148 (B ~188 (&) OFFE]

A/8 |# ™R
we) @ | 2 3 4 O S 7 (sp | ®E
10/14
(8) ZTIJ\J_\\J@E
| g | B =

= =
10/15 S ‘ s EE(12G) | BXEB406) | £ | 1525
OO || 5 |EBosra | WX EEREE] epoq | mxia |5 | (1530

15 | #1% 2680 i5

2= 2=

ES =] BiEE) =]

(SE] 5]
10/16 £ 217 (246G) EEETFE| BRED |4 | 1525
K || o | HBesa FE(1350) BEEEEEE | (HR) | o (1530

5 | 8% c4576) 5

2= 2=

[
10/17 2ENH= [1 BE]
) (EBABSEEHD, FHL\DEIR)
[ |

10/18 BEHE (2 O8]
2) (RBERBTIET—/\—2. HIREETL—T/\D2)

X 2k - T2 EE - FEFHR (DHEED gl EEFR (Af~CHl. FH~J D

BEHEBUDS5Q

@BBOITEN—BEBICTDFIULDT, HiER RS0\,

QULRVDEERAN—FIE, 108108 (K) I"5D5EAICEDET, BHOBERFESHT,
BEHEZLZE. BRICEM TS OLDIC, mNTFIC. HEEAZHRENNLET,

~

7 =2
}g £58E 40D (877 | K1)
17 | 915 [E6/\7] 1035 #/11:00 % 1215 8/1315 %
B | %K% — HERS.AKE) — PESRTHOER) —
H7£ 13:30 &/1500 % 15550 16:30 19:00 21:30
é‘g — FNDOEE — BEE — A — YR — BUE
N/ (BIER - 8L\
10 | 630 715 930  [EZNZ 10108/1110%
g |BRK — HR — BEHR — IBREXHIE —
E 11:20 &/12:50 % 1350 &/14:20 % 15:30 16:00
& HIREERILU—T/N\DOR — BIIPARKE — IRE — B
7 (BE - 5ESR0)
=)
~ | BB 16600 D (BPh - 8D

\\%E%%E%E&DEEﬁE%HEUh&@hO




(108218 (B ~258 (&) OFE]

E == 7N
re 1] 2 3 4 5 6 |7| o2 ws
| o | B | BE - 8P EEERE =) ]
1021 | £ [ £ii(13560) | & | 1525 | EHIH
B |z g%g ;ﬂ(‘;@;% DS G | RRrE FEE(24606) ?g; (1630) | e
= =
£ g | BE =
= =
10/22 == ‘ a2 — ks %%(12@ TR([B4G) | E£ | 1525
O || B |BBoasra | WX EBEIEE) Genwoq | mEte | B3| 1530
15 | B o680 i<}
= =
g g | BUEY i =
(5E] ",\\\/_\\ . =
10/23[ | [ 2177 (246G) et 0S | wmiEm | T | 1525
o | ¢ E35E (2680 = SiE 5 1530
k) | = D | pn ZFE(1350) prm | R §§( )
= 25
|8 8
(el (SE]
10/24 £ . o= L | 1525 | 0
() x ’5‘5 (3= FEZFE ?-é (15:30) XELS
= =
B g | BIEY E5E - M S
(el (SE]
10/25 £ ZE(126) | BR(EB406) iE R £ | 1525
(&) || B |BBoT0 | REKCE | BE1G | e [0 70| B | (1530
=l 18 | P68 15
2= 25
X M2 - TE] . EE - E8FR (DHEEM ZaEFk (AR~CH. FHE~J D
BEH=BUH SO ~N
BOURDICDNTIEIEEEBICHERALEIDT.

-

IBEROEFSEMHECAVNCENT,
108218 (B) IC. MFREEETIEE),
XURDOREHN—FE218(8

)JDRETEHERXDFET,

RAlL 108258

& DEGE

BOET,




